M eramec Math 160C  Quiz 6 Solution Fall 2013
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Please Print yowr name SHOW YOUR WORK !  Statereasonsin wordswhen appr(ﬁriate.

Zero Factor Property: If aand b are real numbersand ab =0, thena=00R b =0.
A binary operation isacalculation involving two operands.
Two equations are equivalent if they have the same solution sets.

A linear equation in one variable is an equation that can be written in the form ax + b = Owhereaand b
are real numbers with not both aand b equal to zero.

The process to solve alinear equation in one variable is to generate a sequence of equations each

equivalent to the previous equation until asimplest equation is obtained.

Write [3x - 7| < 12 as a compact compound inequality with no absolute value symbol —12 < 3x — 7 < 12.
A formulamust be an equation.

If two expressions represent the same quantity, the two expressions must be equal.

The complex component of 37 is /7 . (i isnot beneath theradical)

A quadratic equation in one variable is an equation which may be written in the form

ax’ + bx + c=0 wherea, b, and ¢ are real numbers and ais not zero.

When both sides of an equation are squared the solution set of the resulting equation contains the solution
set of the original equation.

When both sides of an equation are multiplied by an expression containing a variable there is no assurance

that the resulting equation will be equivalent to the original.

The formulafor the area of acirclewith radiusr is; A = nr?.

X ifx >0
M=1" it x<o

In set builder notation theinterval [5, 7) = {x[5<x <7} .



